

On Necessary and Sufficient Conditions for Absolute Matrix Summability

Bağdagül Kartal

Department of Mathematics, Erciyes University, 38039 Kayseri, Turkey

Abstract

This study gets a new general theorem related to necessary and sufficient conditions for $\varphi - |D, \beta; \delta|_k$ summability of the series $\sum a_n \lambda_n$ whenever the series $\sum a_n$ is summable $\varphi - |C, \beta; \delta|$, where $C = (c_{nv})$ and $D = (d_{nv})$ are two positive normal matrices, $k \ge 1$, $\delta \ge 0$ and $-\beta(\delta k + k - 1) + k > 0$.

1 Introduction

In summability theory, the topic of summability of some infinite series (IS) or factored IS attracts the attention of researchers. There are many studies that give sufficient conditions for absolute Riesz summability and absolute matrix summability of IS. Let us mention about the recent studies. Bor [1, 2, 3] proved the theorems on sufficient conditions for absolute Riesz summability of the series $\sum a_n \frac{P_n \lambda_n}{np_n}$ by using the different class of sequences. Bor and Agarwal [4] proved a theorem gives absolute summability of an factored IS by using an almost increasing sequence. Sonker and Munjal [5], Karakaş [6], Kartal [7] obtained the sufficient conditions for absolute Riesz summability of the series $\sum a_n \lambda_n$ via an almost increasing sequence. Karakaş [8], Kartal [9, 10], Özarslan [11, 12, 13], Özarslan and Kartal [14] proved theorems on generalized absolute matrix summability methods. In [15], Özarslan and Şakar obtained the sufficient conditions for absolute Riesz summability of the series $\sum a_n \mu_n$ where (μ_n) is a (ϕ, δ) monotone sequence. Also, we can refer to some other papers about the relative strength of

Received: December 15, 2022; Accepted: January 5, 2023; Published: January 11, 2023 2020 Mathematics Subject Classification: 40D25, 40F05, 40G99.

Keywords and phrases: absolute matrix summability, infinite series, matrix transformations, sequence spaces, summability factors.

absolute summability methods, the sufficient or necessary conditions for absolute summability of IS, some equivalence theorems on summability. In [16], Özarslan and Kandefer studied on the relative strength of two absolute matrix summability methods. Özarslan and Ari [17] acquired the necessary and sufficient conditions in order that $\varphi - |A; \delta|_k$ summability of the series $\sum a_n$ implies the $\varphi - |B; \delta|_k$ summability of the same series, where $A = (a_{nv})$ and $B = (b_{nv})$ are two positive normal matrices, and (φ_n) is a sequence of positive numbers, $k \geq 1$, $\delta \geq 0$. Özarslan and Özgen [18] got a result gives necessary conditions for absolute matrix summability, and then Özgen [19] obtained the sufficiency part of this result. Sezer and Çanak [20], Bor [21] obtained the equivalence theorems about summability of the series. In the present article, the purpose is to get a more general theorem gives the necessary and sufficient conditions for absolute matrix summability than the theorems in articles some of which mentioned here.

2 Preliminaries

Let $\sum a_n$ be an IS with its partial sums (s_n) . Let $C = (c_{nv})$ be a normal matrix which means a lower triangular matrix of nonzero diagonal entries. Then C defines the sequence-to-sequence transformation, mapping the sequence $s = (s_n)$ to $Cs = (C_n(s))$, where

$$C_n(s) = \sum_{v=0}^n c_{nv} s_v, \quad n = 0, 1, \dots$$

Let $C = (c_{nv})$ be a normal matrix, then two lower semimatrices $\overline{C} = (\overline{c}_{nv})$ and $\hat{C} = (\hat{c}_{nv})$ are defined as follows:

$$\bar{c}_{nv} = \sum_{i=v}^{n} c_{ni}, \quad n, v = 0, 1, \dots$$
 (1)

$$\hat{c}_{00} = \bar{c}_{00} = c_{00}, \quad \hat{c}_{nv} = \bar{c}_{nv} - \bar{c}_{n-1,v}, \quad n = 1, 2, \dots$$
 (2)

and

$$\bar{\Delta}C_n(s) = C_n(s) - C_{n-1}(s) = \sum_{v=0}^n \hat{c}_{nv} a_v.$$
(3)

If C is a normal matrix, then $C' = (c'_{nv})$ denotes the inverse of C, and $\hat{C} = (\hat{c}_{nv})$ is a normal matrix and it has two-sided inverse $\hat{C}' = (\hat{c}'_{nv})$ which is also normal (see [22]).

Definition 1. (l_1, l_k) denotes the set of all matrices C which map l_1 into l_k defined by $l_k := \left\{ x = (x_j) : \sum |x_j|^k < \infty \right\}.$

Lemma 1. [23] Let $1 \le k < \infty$. $C = (c_{nv}) \in (l_1, l_k) \iff \sup_v \sum_{n=1}^{\infty} |c_{nv}|^k < \infty$.

Definition 2. [24] Let (φ_n) be a sequence of positive numbers. The series $\sum a_n$ is said to be summable $\varphi - |C, \beta; \delta|_k$, $k \ge 1$, $\delta \ge 0$ and β is a real number, if

$$\sum_{n=1}^{\infty} \varphi_n^{\beta(\delta k+k-1)} \mid C_n(s) - C_{n-1}(s) \mid^k < \infty$$

For $\varphi_n = n$ for all values of $n, \beta = 1$ and $\delta = 0$, we get $|C|_k$ summability method [25].

3 Known Result

The following theorem about absolute matrix summability of IS has proved in [26].

Theorem 1. Let $k \ge 1$. Let $C = (c_{nv})$ and $D = (d_{nv})$ be two positive normal matrices satisfy

$$c_{n-1,v} \ge c_{nv} \text{ for } n \ge v+1 \tag{4}$$

$$\bar{c}_{n0} = 1, \quad n = 0, 1, \dots$$
 (5)

In order that $\sum a_n \lambda_n$ is summable $|D|_k$ whenever $\sum a_n$ is summable |C|, it is necessary that

$$|\lambda_n| = O\left(n^{\frac{1}{k}-1}\frac{c_{nn}}{d_{nn}}\right) \tag{6}$$

$$\sum_{n=v+1}^{\infty} n^{k-1} \left| \Delta_v \left(\hat{d}_{nv} \lambda_v \right) \right|^k = O\left(c_{vv}^k \right)$$
(7)

$$\sum_{n=v+1}^{\infty} n^{k-1} \left| \hat{d}_{n,v+1} \lambda_{v+1} \right|^k = O(1).$$
(8)

Also (6)-(8) and

$$\overline{d}_{n0} = 1, \quad n = 0, 1, \dots$$
 (9)

$$c_{nn} - c_{n+1,n} = O(c_{nn}c_{n+1,n+1})$$
(10)

$$\sum_{v=r+2}^{\infty} \left| \hat{d}_{nv} \hat{c}'_{vr} \lambda_v \right| = O\left(\left| \hat{d}_{n,r+1} \lambda_{r+1} \right| \right)$$
(11)

are sufficient for the consequent to hold.

4 Main Result

The aim of the article is to generalize Theorem 1 as in the following form.

Theorem 2. Let $C = (c_{nv})$ and $D = (d_{nv})$ be two positive normal matrices satisfy (4) and (5). Let $\varphi_n^{\beta\delta} = O(1)$. In order that $\sum a_n \lambda_n$ is summable $\varphi - |D, \beta; \delta|_k$ whenever $\sum a_n$ is summable $\varphi - |C, \beta; \delta|$, it is necessary that

$$|\lambda_n| = O\left(\varphi_n^{\frac{-\beta(\delta k + k - 1)}{k}} \frac{c_{nn}}{d_{nn}}\right)$$
(12)

$$\sum_{n=v+1}^{\infty} \varphi_n^{\beta(\delta k+k-1)} \left| \Delta_v \left(\hat{d}_{nv} \lambda_v \right) \right|^k = O\left(c_{vv}^k \right)$$
(13)

$$\sum_{n=v+1}^{\infty} \varphi_n^{\beta(\delta k+k-1)} \left| \hat{d}_{n,v+1} \lambda_{v+1} \right|^k = O(1).$$

$$(14)$$

Also (9)-(11) and (12)-(14) are sufficient for the consequent to hold, where $k \ge 1$, $\delta \ge 0$ and $-\beta(\delta k + k - 1) + k > 0$.

Proof of Theorem 2

Necessity. Let (I_n) and (U_n) denote C-transform and D-transform of the series $\sum a_n$ and $\sum a_n \lambda_n$. By (3), we get

$$\bar{\Delta}I_n = \sum_{v=0}^n \hat{c}_{nv} a_v \quad \text{and} \quad \bar{\Delta}U_n = \sum_{v=0}^n \hat{d}_{nv} a_v \lambda_v.$$
(15)

Let us define

$$C = \left\{ a = (a_i) : \sum a_i \quad \text{is summable} \quad \varphi - | C, \beta; \delta | \right\}$$

$$D = \left\{ a\lambda = (a_i\lambda_i) : \sum a_i\lambda_i \quad \text{is summable} \quad \varphi - | D, \beta; \delta |_k \right\}.$$

If the above spaces are normed by

$$||I|| = \left\{ \sum_{n=0}^{\infty} \varphi_n^{\beta\delta} \left| \bar{\Delta} I_n \right| \right\} \quad \text{and} \quad ||U|| = \left\{ \sum_{n=0}^{\infty} \varphi_n^{\beta(\delta k+k-1)} \left| \bar{\Delta} U_n \right|^k \right\}^{\frac{1}{k}} \tag{16}$$

then these are *BK*-spaces. By the hypotheses of the theorem, since the $\varphi - |C,\beta;\delta|$ summability of the series $\sum a_n$ implies the $\varphi - |D,\beta;\delta|_k$ summability of the series $\sum a_n\lambda_n$, we can write

$$||I|| < \infty \quad \Longrightarrow \quad ||U|| < \infty.$$

Let us consider the inclusion map $T: C \to D$ defined by T(x) = x. Since C and D are BK-spaces, this map is continuous. Thus, there exists a constant M > 0 so that $||U|| \le M ||I||$. By writing $a_v = e_v - e_{v+1}$ in (15), we have

$$\bar{\Delta}I_n = \begin{cases} 0, & n < v \\ \hat{c}_{nv}, & n = v \\ \Delta_v \hat{c}_{nv}, & n > v \end{cases} \text{ and } \bar{\Delta}U_n = \begin{cases} 0, & n < v \\ \hat{d}_{nv}\lambda_v, & n = v \\ \Delta_v \left(\hat{d}_{nv}\lambda_v\right), & n > v \end{cases}$$

Then (16) implies the following equality

$$||I|| = \left\{ \varphi_v^{\beta\delta} c_{vv} + \sum_{n=v+1}^{\infty} \varphi_n^{\beta\delta} |\Delta_v \hat{c}_{nv}| \right\}$$

and

$$||U|| = \left\{ \varphi_v^{\beta(\delta k+k-1)} d_{vv}^k |\lambda_v|^k + \sum_{n=v+1}^{\infty} \varphi_n^{\beta(\delta k+k-1)} \left| \Delta_v \left(\hat{d}_{nv} \lambda_v \right) \right|^k \right\}^{\frac{1}{k}}$$

Here, using the fact that $||U|| \leq M ||I||$, we get

$$\varphi_{v}^{\beta(\delta k+k-1)} d_{vv}^{k} \left| \lambda_{v} \right|^{k} + \sum_{n=v+1}^{\infty} \varphi_{n}^{\beta(\delta k+k-1)} \left| \Delta_{v} \left(\hat{d}_{nv} \lambda_{v} \right) \right|^{k}$$
$$\leq M^{k} \varphi_{v}^{\beta(\delta k)} c_{vv}^{k} + M^{k} \left(\sum_{n=v+1}^{\infty} \varphi_{n}^{\beta\delta} \left| \Delta_{v} \left(\hat{c}_{nv} \right) \right| \right)^{k}.$$

By using the above inequality and the equality $\sum_{n=v+1}^{\infty} |\Delta_v(\hat{c}_{nv})| = O(c_{vv})$ by (1), (2), (4), we get

$$\varphi_v^{\beta(\delta k+k-1)} d_{vv}^k \left| \lambda_v \right|^k + \sum_{n=v+1}^{\infty} \varphi_n^{\beta(\delta k+k-1)} \left| \Delta_v \left(\hat{d}_{nv} \lambda_v \right) \right|^k = O(c_{vv}^k)$$

which means each term on the left equals to $O(c_{vv}^k)$. For the first one, we have

$$\varphi_v^{\beta(\delta k+k-1)} d_{vv}^k \left| \lambda_v \right|^k = O(c_{vv}^k) \quad \Longrightarrow \quad \left| \lambda_v \right| = O\left(\varphi_v^{\frac{-\beta(\delta k+k-1)}{k}} \frac{c_{vv}}{d_{vv}} \right)$$

and this gives that (12) is necessary.

For the second one, we get

$$\sum_{n=v+1}^{\infty} \varphi_n^{\beta(\delta k+k-1)} \left| \Delta_v \left(\hat{d}_{nv} \lambda_v \right) \right|^k = O(c_{vv}^k)$$

that means (13) is necessary. Similarly, by writing $a_v = e_{v+1}$ in (15), we have

$$\bar{\Delta}I_n = \begin{cases} 0, & n \le v \\ \hat{c}_{n,v+1}, & n > v \end{cases} \quad \text{and} \quad \bar{\Delta}U_n = \begin{cases} 0, & n \le v \\ \hat{d}_{n,v+1}\lambda_{v+1}, & n > v \end{cases}$$

Then again from (16), we obtain

$$||I|| = \left\{ \sum_{n=v+1}^{\infty} \varphi_n^{\beta\delta} \left| \hat{c}_{n,v+1} \right| \right\} \quad \text{and} \quad ||U|| = \left\{ \sum_{n=v+1}^{\infty} \varphi_n^{\beta(\delta k+k-1)} \left| \hat{d}_{n,v+1} \lambda_{v+1} \right|^k \right\}^{\frac{1}{k}}.$$

Similary, we can write

$$\sum_{n=v+1}^{\infty} \varphi_n^{\beta(\delta k+k-1)} \left| \hat{d}_{n,v+1} \lambda_{v+1} \right|^k \le M^k \left\{ \sum_{n=v+1}^{\infty} \varphi_n^{\beta\delta} \left| \hat{c}_{n,v+1} \right| \right\}^k$$

and we get $\sum_{n=v+1}^{\infty} |\hat{c}_{n,v+1}| = O(1)$ by (1), (2), (4), (5). Therefore

$$\sum_{n=v+1}^{\infty} \varphi_n^{\beta(\delta k+k-1)} \left| \hat{d}_{n,v+1} \lambda_{v+1} \right|^k = O(1)$$

that means (14) is necessary.

Sufficiency.

By the equalities in (15), we can write $a_v = \sum_{r=0}^v \hat{c}'_{vr} \bar{\Delta} I_r$ and $\bar{\Delta} U_n = \sum_{v=0}^n \hat{d}_{nv} \lambda_v \sum_{r=0}^v \hat{c}'_{vr} \bar{\Delta} I_r$. Since $\hat{d}_{-} = \bar{d}_{-} = 0$ we have

Since
$$d_{n0} = d_{n0} - d_{n-1,0} = 0$$
, we have

$$\bar{\Delta}U_n = \sum_{v=1}^n \hat{d}_{nv} \lambda_v \sum_{r=0}^v \hat{c}'_{vr} \bar{\Delta}I_r$$

$$= \sum_{v=1}^n \hat{d}_{nv} \lambda_v \hat{c}'_{vv} \bar{\Delta}I_v + \sum_{v=1}^n \hat{d}_{nv} \lambda_v \hat{c}'_{v,v-1} \bar{\Delta}I_{v-1} + \sum_{v=1}^n \hat{d}_{nv} \lambda_v \sum_{r=0}^{v-2} \hat{c}'_{vr} \bar{\Delta}I_r$$

$$= \hat{d}_{nn} \lambda_n \hat{c}'_{nn} \bar{\Delta}I_n + \sum_{v=1}^{n-1} \left(\hat{d}_{nv} \lambda_v \hat{c}'_{vv} + \hat{d}_{n,v+1} \lambda_{v+1} \hat{c}'_{v+1,v} \right) \bar{\Delta}I_v$$

$$+ \sum_{r=0}^{n-2} \bar{\Delta}I_r \sum_{v=r+2}^n \hat{d}_{nv} \lambda_v \hat{c}'_{vr}.$$
(17)

For δ_{nv} (Kronecker delta), by using the equality $\sum_{k=v}^{n} \hat{c}'_{nk} \hat{c}_{kv} = \delta_{nv}$, we get

$$\begin{aligned} \hat{d}_{nv}\lambda_{v}\hat{c}'_{vv} + \hat{d}_{n,v+1}\lambda_{v+1}\hat{c}'_{v+1,v} &= \frac{\hat{d}_{nv}\lambda_{v}}{\hat{c}_{vv}} + \hat{d}_{n,v+1}\lambda_{v+1}\left(-\frac{\hat{c}_{v+1,v}}{\hat{c}_{vv}\hat{c}_{v+1,v+1}}\right) \\ &= \frac{\hat{d}_{nv}\lambda_{v}}{c_{vv}} - \hat{d}_{n,v+1}\lambda_{v+1}\frac{(\bar{c}_{v+1,v} - \bar{c}_{vv})}{c_{vv}c_{v+1,v+1}} \\ &= \frac{\hat{d}_{nv}\lambda_{v}}{c_{vv}} - \hat{d}_{n,v+1}\lambda_{v+1}\frac{(c_{v+1,v+1} + c_{v+1,v} - c_{vv})}{c_{vv}c_{v+1,v+1}} \\ &= \frac{\Delta_{v}(\hat{d}_{nv}\lambda_{v})}{c_{vv}} + \hat{d}_{n,v+1}\lambda_{v+1}\frac{(c_{vv} - c_{v+1,v})}{c_{vv}c_{v+1,v+1}}.\end{aligned}$$

Earthline J. Math. Sci. Vol. 12 No. 1 (2023), 1-12

.

If we write this equality in (17), we obtain

$$\begin{split} \bar{\Delta}U_n &= \frac{d_{nn}\lambda_n}{c_{nn}}\bar{\Delta}I_n + \sum_{v=1}^{n-1}\frac{\Delta_v(\hat{d}_{nv}\lambda_v)}{c_{vv}}\bar{\Delta}I_v + \sum_{v=1}^{n-1}\hat{d}_{n,v+1}\lambda_{v+1}\frac{(c_{vv}-c_{v+1,v})}{c_{vv}c_{v+1,v+1}}\bar{\Delta}I_v \\ &+ \sum_{r=0}^{n-2}\bar{\Delta}I_r\sum_{v=r+2}^n\hat{d}_{nv}\lambda_v\hat{c}'_{vr} \\ &= U_{n,1} + U_{n,2} \end{split}$$

so that

$$U_{n,1} = \frac{d_{nn}\lambda_n}{c_{nn}}\bar{\Delta}I_n + \sum_{v=1}^{n-1}\frac{\Delta_v(\hat{d}_{nv}\lambda_v)}{c_{vv}}\bar{\Delta}I_v + \sum_{v=1}^{n-1}\hat{d}_{n,v+1}\lambda_{v+1}\frac{(c_{vv}-c_{v+1,v})}{c_{vv}c_{v+1,v+1}}\bar{\Delta}I_v$$

and

$$U_{n,2} = \sum_{r=0}^{n-2} \bar{\Delta} I_r \sum_{v=r+2}^n \hat{d}_{nv} \lambda_v \hat{c}'_{vr}.$$

Now, we show that

$$\sum_{n=1}^{\infty} \varphi_n^{\beta(\delta k+k-1)} |U_{n,i}|^k < \infty \quad \text{for} \quad i=1,2.$$

First

$$\begin{split} \varphi_n^{\underline{\beta}(\delta k+k-1)} U_{n,1} &= \varphi_n^{\underline{\beta}(\delta k+k-1)} \frac{d_{nn}\lambda_n}{c_{nn}} \bar{\Delta}I_n + \varphi_n^{\underline{\beta}(\delta k+k-1)} \sum_{v=1}^{n-1} \frac{\Delta_v(\hat{d}_{nv}\lambda_v)}{c_{vv}} \bar{\Delta}I_v \\ &+ \varphi_n^{\underline{\beta}(\delta k+k-1)} \sum_{v=1}^{n-1} \hat{d}_{n,v+1}\lambda_{v+1} \frac{(c_{vv}-c_{v+1,v})}{c_{vv}c_{v+1,v+1}} \bar{\Delta}I_v \\ &= \sum_{v=1}^{\infty} h_{nv} \bar{\Delta}I_v \end{split}$$

such that

$$h_{nv} = \begin{cases} \varphi_n^{\frac{\beta(\delta k+k-1)}{k}} \left\{ \frac{\Delta_v(\hat{d}_{nv}\lambda_v)}{c_{vv}} + \hat{d}_{n,v+1}\lambda_{v+1}\frac{(c_{vv}-c_{v+1,v})}{c_{vv}c_{v+1,v+1}} \right\}, & 1 \le v \le n-1 \\ \\ \varphi_n^{\frac{\beta(\delta k+k-1)}{k}}\frac{d_{nn}\lambda_n}{c_{nn}}, & v = n \\ \\ 0, & v > n \end{cases}$$

By Lemma 1, $\sum_{n=1}^{\infty} \left| \varphi_n^{\frac{\beta(\delta k+k-1)}{k}} U_{n,1} \right|^k < \infty$ whenever $\sum_{n=1}^{\infty} \left| \bar{\Delta} I_n \right| < \infty$ is equivalently $\sup_v \sum_{n=1}^{\infty} |h_{nv}|^k < \infty$ and by using (10), (12), (13), (14), we have

$$\sum_{n=1}^{\infty} |h_{nv}|^k = O(1) \left\{ \varphi_n^{\beta(\delta k+k-1)} \left| \frac{d_{nn}\lambda_n}{c_{nn}} \right|^k + \sum_{n=v+1}^{\infty} \varphi_n^{\beta(\delta k+k-1)} \left| \frac{\Delta_v(\hat{d}_{nv}\lambda_v)}{c_{vv}} + \hat{d}_{n,v+1}\lambda_{v+1} \frac{(c_{vv} - c_{v+1,v})}{c_{vv}c_{v+1,v+1}} \right|^k \right\}$$
$$= O(1) \quad \text{as} \quad v \to \infty.$$

Now

$$\varphi_n^{\frac{\beta(\delta k+k-1)}{k}} U_{n,2} = \varphi_n^{\frac{\beta(\delta k+k-1)}{k}} \sum_{r=0}^{n-2} \bar{\Delta} I_r \sum_{v=r+2}^n \hat{d}_{nv} \lambda_v \hat{c}'_{vr} = \sum_{r=0}^\infty p_{nr} \bar{\Delta} I_r$$

so that

$$p_{nr} = \begin{cases} \varphi_n^{\frac{\beta(\delta k + k - 1)}{k}} \sum_{v=r+2}^n \hat{d}_{nv} \lambda_v \hat{c}'_{vr}, & 0 \le r \le n - 2\\ 0, & r > n - 2 \end{cases}$$

Again by Lemma 1, $\sum \left| \varphi_n^{\frac{\beta(\delta k+k-1)}{k}} U_{n,2} \right|^k < \infty$ whenever $\sum \left| \bar{\Delta} I_n \right| < \infty$ is equivalently $\sup_r \sum_{n=1}^{\infty} \left| d_{nr} \right|^k < \infty$ and by using (11), (14), we have

$$\sum_{n=1}^{\infty} |d_{nr}|^k = \sum_{n=r+2}^{\infty} |d_{nr}|^k = O(1) \sum_{n=r+2}^{\infty} \varphi_n^{\beta(\delta k+k-1)} \left\{ \sum_{v=r+2}^{\infty} \left| \hat{d}_{nv} \lambda_v \hat{c}'_{vr} \right| \right\}^k$$
$$= O(1) \sum_{n=r+2}^{\infty} \varphi_n^{\beta(\delta k+k-1)} \left| \hat{d}_{n,r+1} \lambda_{r+1} \right|^k$$
$$= O(1) \text{ as } r \to \infty.$$

Thus, we obtain that

$$\sum_{n=1}^{\infty} \varphi_n^{\beta(\delta k+k-1)} |U_{n,i}|^k < \infty \quad \text{for} \quad i=1,2.$$

5 Conclusions

In this paper, a new general theorem related to necessary and sufficient conditions for absolute matrix summability of IS is proved. In case of $\varphi_n = n$ for all values of $n, \beta = 1$ and $\delta = 0$, the equalities (12), (13) and (14) reduce to the equalities (6), (7) and (8) respectively, thence Theorem 2 reduces to Theorem 1. Theorem 2 may be the basis for further studies, the result can be generalized for different summability methods.

References

- H. Bor, Factors for absolute weighted arithmetic mean summability of infinite series, Int. J. Anal. Appl. 14(2) (2017), 175-179. https://doi.org/10.2298/fil1715963b
- H. Bor, On some new results for non-decreasing sequences, *Tbilisi Math. J.* 10(2) (2017), 57-64. https://doi.org/10.1515/tmj-2017-0025
- [3] H. Bor, A new note on absolute weighted arithmetic mean summability, *Lobachevskii J. Math.* 39(2) (2018), 169-172. https://doi.org/10.1134/s1995080218020051
- [4] H. Bor and R. P. Agarwal, A new application of almost increasing sequences to factored infinite series, Anal. Math. Phys. 10(3) (2020), Paper No. 26, 7 pp. https://doi.org/10.1007/s13324-020-00369-0
- S. Sonker and A. Munjal, On generalized absolute Riesz summability factor of infinite series, *Kyungpook Math. J.* 58(1) (2018), 37-46. https://doi.org/10.12988/ijma.2016.6690
- [6] A. Karakaş, A new application of almost increasing sequences, Ann. Univ. Paedagog. Crac. Stud. Math. 18 (2019), 59-65.
- B. Kartal, A theorem on absolute summability of infinite series, Cumhuriyet Sci. J. 40(3) (2019), 563-569. https://doi.org/10.17776/csj.537767
- [8] A. Karakaş, On absolute matrix summability factors of infinite series, J. Class. Anal. 13(2) (2018), 133-139. https://doi.org/10.7153/jca-2018-13-09
- [9] B. Kartal, On an extension of absolute summability, Konuralp J. Math. 7(2) (2019), 433-437.

[10] B. Kartal, Factors for generalized matrix summability, Erc. Unv. J. Inst. Sci and Tech. 37(3) (2021), 462-467.

11

- [11] H. S. Özarslan, An application of absolute matrix summability using almost increasing and δ -quasi-monotone sequences, *Kyungpook Math. J.* 59(2) (2019), 233-240.
- [12] H. S. Ozarslan, A new factor theorem for absolute matrix summability, Quaest. Math. 42(6) (2019), 803-809. https://doi.org/10.2989/16073606.2018.1498407
- H. S. Özarslan, Generalized almost increasing sequences, Lobachevskii J. Math. 42(1) (2021), 167-172. https://doi.org/10.1134/S1995080221010212
- [14] H. S. Özarslan and B. Kartal, Absolute matrix summability via almost increasing sequence, *Quaest. Math.* 43(10) (2020), 1477-1485.
 https://doi.org/10.2989/16073606.2019.1634651
- [15] H. S. Özarslan and M.Ö. Şakar, A new application of (ϕ, δ) monotone sequences, Russ. Math. 3 (2022), 38-43.
- [16] H. S. Özarslan and T. Kandefer, On the relative strength of two absolute summability methods, J. Comput. Anal. Appl. 11(3) (2009), 576-583.
- [17] H. S. Özarslan and T. Ari, Absolute matrix summability methods, Appl. Math. Lett. 24(12) (2011), 2102-2106. https://doi.org/10.1016/j.aml.2011.06.006
- [18] H. S. Özarslan and H. N. Özgen, Necessary conditions for absolute matrix summability methods, Boll. Unione Mat. Ital. 8(3) (2015), 223-228. https://doi.org/10.1007/s40574-015-0039-8
- [19] H. N. Özgen, On two absolute matrix summability methods, Boll. Unione Mat. Ital. 9(3) (2016), 391-397. https://doi.org/10.1007/s40574-016-0053-5
- [20] S. A. Sezer and I. Çanak, Conditions for the equivalence of power series and discrete power series methods of summability, *Filomat* 29(10) (2015), 2275-2280. https://doi.org/10.2298/fil1510275s
- [21] H. Bor, Some equivalence theorems on absolute summability methods, Acta Math. Hungar. 149(1) (2016), 208-214. https://doi.org/10.1007/s10474-016-0582-5

- [22] R. G. Cooke, Infinite Matrices and Sequence Spaces, Macmillan & Co. Limited, London, 1950.
- [23] I. J. Maddox, *Elements of Functional Analysis*, Cambridge University Press, Cambridge, 1970.
- [24] H. S. Özarslan and B. Kartal, On the general method of summability, J. Math. Anal., 9(4) (2018), 36-43.
- [25] N. Tanovic-Miller, On strong summability, Glasnik Mat. Ser. III 14(34) (1979), 87-97.
- [26] H. S. Özarslan and T. Ari, A new note on generalized absolute matrix summability, J. Inequal. Appl. 166 (2012), 9 pp. https://doi.org/10.1186/1029-242x-2012-166

This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0/), which permits unrestricted, use, distribution and reproduction in any medium, or format for any purpose, even commercially provided the work is properly cited.